Vocabulary Cards and Word Walls
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Important Notes for Teachers:

o The vocabulary cards in this file match the Common Core, the math
curriculum adopted by the Utah State Board of Education, August 2010.

e The cards are arranged alphabetically.

e Each card has three sections.

o Section 1 is only the word. This is to be used as a visual aid in
spelling and pronunciation. It is also used when students are writing
their own “kid-friendly” definition and drawing their own graphic.

o Section 2 has the word and a graphic. This graphic is available to be
used as a model by the teacher.

o Section 3 has the word, a graphic, and a definition. This is to be used
for the Word Wall in the classroom. For more information on using a
Word Wall for Daily Review — see “Vocabulary — Word Wall Ideas”
on this website.

e These cards are designed to help all students with math content vocabulary,
including ELL, Gifted and Talented, Special Education, and Regular
Education students.
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Granite School District Math Department at 385-646-4239.
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acute angle

acute angle




Q @ To combine, put together

a_d d - 2 two or more quantities.




addend



additive comparison

additive
comparison v v

Problems that ask

a.d d i tive ' * * how much more

(or less) one amount

- IS than another.
comparison ® @
How many more hearts than stars are there?



algorithm

algorithm 7 -

60 Multiply the tens 3 x 20 = 80
72 Add the partial products
24
X 3
- _12 A step-by-step
al O r I th m Multiply the ones 3 x 4 = 12 method for
60 Multiply the tens 3 x 20 = 60 CompUting-

72 Add the partial products



Two rays that
a n I e share an
endpoint.
(

Angle




angle measure

angle
measure

The measure of the size of an
angle. It tells how far one
side is turned from the other
side.

angle
measure

A one degree angle turns
through 1/360 of a full circle.




Part of a circle

A
arc enenny o



2 rows of 5 = 10 square units
or

area 2 x5 =10 square units

2 rows of 5 = 10 square units

or _ The measure, in
2 x 5 =10 square units square units, of the

a. re a inside of a plane
- figure.




area model

area 9 20+ 8 A model f

9x20=180 9x8=72 that shows each
place value

model

9 x 28 = (9 x 20) + (9 x 8) = 252




3 rows of 5
3x5

X X X
009 OR
000

An arrangement
of objects in
equal rows.



Assoclative Property
of Addition

Assoclative

Property
of Addition =15
ASSOClatlve Changing the

grouping of three or

P rope rty 15 = 15 more addends does
Of Add |t| on not change the sum.



Assoclative Property
of Multiplication

Assoclative

Property of 3 X3=5x21
Multiplication '
Associative Changing
Property of Plso10s or e factors

does not change

MUItllecatlon the product.



attribute

attribute




benchmark

++++++++++++++++++++++++++++++++++++++++++++++++++++++++ fractions
benchmark 11123
fractions 4 32 34

benchmark 1 1 1 2 3 reciomuetae

commonly used for

fractions , 53 5993 4 =™




capacity




centimeter (cm)

||||||||| T
Cm 1cm 2cm 3cm 4cm 5¢c

centimeter =
(cm) [ ]

A metric unit
lllllllllllll




circle

A plane figure with all

circle . pois the ame distac

a center,



classity

3 Sides

LR et —

e O R |

To sort into

| | ] | | |

: ' : : H . : Categories_
C a.SSI y | A H. e or to arrange into

| || 1 | groups by attributes.
| ] | | |

e e e —— ] e —————— — ] — — — — — —



common denominator

12 1S a common
common

denominator for

denominator Zand >

3 4

12 1s a common For o or
: Hions.
common denominator for more fractions

a common
denominator is

] 2 3
denominator 5 and - e of the
denominators.



Commutative Property
of Addition

Commutative Property

Commutative Property g pem
of Addition atbo Do

a+b=Db+a

COm m Utatlve Changing the

Commutative Property order of the

P ro pe rty Of -3 L - 1 3— addends does
b=b+

not change the
d+ d

Addition o




Commutative Property
of Multiplication

Commutative  _...... °
Property of RIS
Multiplication _ =
__________________________________________________________________________________________________________________________ Ax7 = Tx4
Commutative  szesees 313 cmme
Property of 882228 oop e dono
Multiplication product



compare

% To decidte) if one
CO m p a re ° ‘. .‘ ; is greg’tjerrntr?arn, less
than, or equal to.

4 1S more than 3



comparison bars

comparison ;
bars 3+

- Used to represent larger
CO m a r I SO n 7 and smaller amounts in a
comparison situation. Can

3 ? be used to represent all four

operations. Different

b a rS 3 +A= / lengths of bars are drawn to

represent each number.



COMpOSE

3 Acan
make a dish.

2 £\ can make
a hamburger box.

To put

O SAcan together
ComMpose &
W 26Dcagrmilf or baS|C

elements.



composite number

composite
number

- ﬁ**ﬁ** A number
COmpOSIte 1x6=6 greater than 0

ﬁﬁﬁ tha’;] has more
ﬁﬁﬁ than two
number e

6 is a composite number




congruent







customary system

customary
system

—=7
customary
system

in the U.S. The
system includes
units for
measuring length,
capacity, and
weight.



data collecting

X X, X
XXX e
ata
x_ x| [
Xy If

data collecting

X X, X
e car X5 ¥ X —_
data -7 ="
truckx XXX Fﬁi

A collection of information
gathered for a purpose.
Data may be in the form of
either words or numbers.




decimal

- $29.45 53.0
decimal 0 02

' $29.45 53.0  itigiswmne
deCI mal 0.02 right of a decimal

point.



decimal fraction

decimal
fraction

decimal
fraction

A fractional
number with a
denominator of

10 or a power of

10. Usually
written with a
decimal point.




decimal notation

decimal
notation

decimal
notation




decimal point

decimal $1.55 3.2

I f

pOI nt decimal point

deCI mal $1 ‘55 3 ° 2 A dot (.) separating
ole numper
p O i N t decimal point degimal notation.



decompose

4 .y -~

= * A =
Numbers canbe 300 20 20 2
decomposed in a "'
variety of ways,

depending on 300+20+ 20+ 2
the situation.

342

~

Y - .
ﬁ, * ‘\‘ Sa
Numbers canbe 300 20 20 2 To separate Into _
e C O I I l p O S e decomposed in a J’ components or basic
variety of ways,
depending on 300 + 20 + 20 + 2 elements.
the situation.



deg Fee (angle measure)

A unit for measuring
angles. Based on
dividing one complete
circle into 360 equal
parts.




denominator

denominator %@

The quantity below
the line in a fraction.

d e N O m i N atO I l @ E ;lei“ all It tells how many

Set equal parts are in the

3 000 e Total whole.

1 2 3






difference

289 — 146 = 143

difference

difference
- 289 — 146 = 143 The amount that
difference / quantity s subtracted
from ano ther.

difference



Distributive Property

- = = 60
Distributive o D I
6x14= 6x(10 + 4)*Break up the 14 into 10 + 4
PrOpe rty R

(Bx10)+{(6x4)
60 + 24 = 84

10 4

When one of the

D i St r i b u t i Ve 60 a | 50 factors of a product is

84 a sum, multiplying

(s3]

e das : | each addend before
*14 = 6 x (10 + 4) *Break up the 14 into 10 + 4 i
I: rO pe rty ~ adding does not
6x(10+4
tore oal change the product.

60 + 24 = 84



divide

To separate into equal
groups and find the
number in each group
or the number of
groups.




dividend

- . A number that is
I l Ivi h
d I V I d e d 7 dIVId(re]?Jr%:rr,]Ot er




divisor



endpoint

endpoint endpoint

endpoint —————

endpoint endpoint A point at either

e n d p O i nt —l_l_ seg(rarrl]edn?,foe: Iailnpeoint

segment at one end of a ray.



13+5=10+38
I 13+5 10+ 8

These expressions balance the
scale because they are equal.

13+5=10+8

13+5 10 + 8
e q u a_l u Having the same value.
A

These expressions balance the
scale because they are equal.



equation

A mathematical
sentence with an
equals sign. The
amount on one side
of the equals sign
has the same value
as the amount on the
2 |+ 3 |=| B other side.

equation




equivalent fractions

equivalent :
fractions s

eq u ival ent ;2 Fractions that have
fractions T




estimate

How many jelly
beans are in the jar?

/ — To find a number close

- T 5y f to an exact amount; an

eSt I m ate 25 How many jelly estimate tells about how
¥ beans are in the jar? much or about how

many.



evaluate

To find the value of



expanded form

expanded
form

expall ded 263=200+60+3  numben o
th ce value of
fo r m each digit.

263 =200+ 60 + 3



expression

expression N +4



fact family

Fact Family for 3, 5, 15

faCt famlly 3x5=15 15+5=3

5x3=15 15+3=5

Fact Family for 3, 5, 15 A group of related
facts that use the

faCt fam | Iy 3x5=15 15+5=3 same numbers.

Also called
5x3=15 15+3=5 related facts.




factor

2 X 6 — 12 The whole numbers that

f a Ct O r \] are mullc;[:g(ljiﬁgt.to get a

factors



factor palrs

— g DOD
2X3=6 sew

factor pairs v ===

The factor pairs for 6 are
(2,3) and (1,6)

| it

faCtOr 2X3=0 www A set of two whole

_ | numbers when
1x6=6 SBSBSB® | ioied, will result in a

p a-l rS The factor pairs for 6 are given product.

(2,3) and (1,6)



foot (ft)

| 2 inches = | foot

|2 inches = | foot A customary unit
fO O t ft e i L o R S Kt o ] of length.
it 1 foot = 12 inches.



formula

To find the area of any rectangle,

multiply its length by its width.
O r I I l u a This rule can be written as an equation,

A=Ixw

To find the area of any rectangle,
multiply its length by its width.

This rule can be written as an equation, A rule that Is written
ormduia A ixw e anequation



fraction

Measurement Model Set Model Reaqional/Array Model
[
Y VN
S O
01234 .O
4 4 4 4 .
r F § 1
Bar Diagram

(thickened number line)

A way to describe a
Measurement Model Set Model Regional/Array Model

fraction it s B Eiew
:::;:.4 ® using equal parts.

Bar Diagram
(thickened number line)




function table

- -
Steamship
Puff of Smoke Total Blocks |
input (p) output (t) ." /

1 3

2 4 D

table s s W

Steamship |

fu n Ctl O n el = .. _____ /
1 3 D A table that lists

2 4 pairs of numbers that

3 5 ' follow a rule.
ta e Rule:t=p +2




gallon (gal

gallon (gal)

gallon (gal)




The mass of a paperclip
Is about 1 gram.

The mass of a paperclip

IS about 1 gram.
The standard unit of

-' mass in the metric
g ral I l g system. 1,000 grams
/ = 1 kilogram



greater than

greater @ 2

than = 5 3

Greater than is

g reate r % 3 used to compare
® two numbers

when the first

number is larger

t h a n than the selcond
5 > 3 nnnnnnn



4:05

A unit of time.
1 hour = 60
minutes.

24 hours =1 day.

4:05




hundredth

One of the
eeeeeeeeeeeeee
hundredth
divided into 100

aaaaaaaaaaa




hundredths

hundredths 4,



ldentity Property of

Addition
ldentity Property B
of Addition 8+0=38
ldentity s
PrOpe rty Of 8+0=8 Zeti':en%?;‘ Sil:srr};hteer,

Ad d iti O n number.



ldentity Property of
Multiplication

Ildentity Property
of Multiplication

1groupof3=3
1x3=3

If you multiply a
number by one, the
product is the same

as that number.

Identity Property
of Multiplication

1groupof3=3
1x3=3



Improper fraction
******************** improper =, .
fraction

I m p rO pe r 6 16 numerator is
- reater than or
fraction 3 ——



Inch (In)

1inch

- - | ‘ A customary unit of
| | I h.
I n C h ( I n) 12 incr?:sgtz 1 foot.




Intersecting lines

Intersecting
lines

Intersecting
lines




Inverse operations

Multiplication and division

i nve rse are inverse operations.

8 x5 =40

operations 0-5-8

Multiplication and division
are inverse operations.

i nve rse Operations that

8 x5 =40 undo each other.

operations 40-5-8




kllog ram (kg)

Kilogram
(K9)




Kilometer (km)

d
‘ !
I I l A kilometer (km) is about the length
of 4 city blocks.

Kilometer
(km)

A metric unit of
length equal to
1000 meters.

A kilometer (km) is about the length
of 4 city blocks.



Zo Ly ot b

How long something is.
The distance from one
point to another.
Length is measured in units
such as inches, feet,
centimeters, etc.




less than

Less than is used
to compare two
numbers when the
first number is

L smaller than the

3 < 5 second number.



like denominators

like
denominators

like
denominators

eeeeeeeeeee

oo | W
Co | O
oo |



- A set of connected points
I I n e G— continuing without end
in both directions.



liIne of symmetry

line of
symmetry




X
- X
INne p lot AR
T : : : —
| 2 3 4 5
- x A diagram showing
I I n e IOt X X x X frequency of c_lata on
—_— a number line.
| 2 3 4 5



lIne segment

line ... ..
segment
Ilne eeeee nt  endpo int



line symmetric figures

line symmetric

i
a : # !
\. # !
a 1 # 1
‘ i e i
S #
B bl - L) - 1
- - . 1 # [}
r % #
o b !
. b LA
f u g
’ L
FARIES
# .
- 1 ~
| i # 1 .
I 1 ~
# “
1 # ] LY
1 - 1 -
’ ~
i - L} - [}
1 1 1
1 i
1 !
i
'
]

1
5 H z !
! ’
~ 1 # 1
= 1 - 1
5 o
- ) » 1
A [] * 1
L !
i
ke
I‘\\
I'\
- L) ~
A0
, .
# 1 .
; f o
5
1 -~ 1
i 1
i
1

Figures that can be
folded in half and its
two parts match
exactly.

symmetric
figures




liter (L)

lzrge bottle of sodz or
bottle of water

;I
(D
q
~~
r
—

lzrge botde of soda o
bottle of watet
= The basic unit of
capacity in the metric
system.
1 liter = 1,000 milliliters.

liter (L)

B
N

#

.
il
=



lowest terms

4
8
lowest terms :
2
4 in lowest terms is X
8 2
4 .
8 When a fraction is
1 expressed with the
2

f t ible pi it
lowest terms P

g in lowest terms is % called simplest form.)



The amount of matter
in an object. Usually
measured by
comparing with an
object of known mass.
While gravity
influences weight, it
does not affect mass.



meter (M)

meter (M) s

A baseball bat is about 1 meter long.

A standard unit of

m Ete r (m) S IengthsiyrjS ';[Qr?] .metric

A baseball bat is about 1 meter long.



metric system

metric

500mL

5 ol
, -ll \ i :l
T T R R S O S [ [ S Y Y O TR |
o ] 2 3 . 5 3 7 B 2 @ 11 12 13 1+ 15 !
certineter 4

- tens. The basic unit of

I I l et r I C ! capacity is the liter.
qQu The basic unit of length
System T — Is the meter. The basic

unit of mass is the
gram.

A system of
— 1litre measurement based on

—500mL




A customary unit of
length.
1 mile = 5,280 feet

Two times around the average roller
coaster is about 1 mile.



milliliter (ML)

4 A metric unit of capacity.
j? 1,000 milliliters = 1 liter.




millimeter (mm)

millimeter
(mm)




minute (Min)

minute
(mMin)




mixed number

mixed 5 4a
number
mixed 15 as -



multiple

12 is a multiple of 3

multiple and of

because 3 x4 =12

12 1s a multiple of 3 A product of a given

multiple T

because 3 x4 =12 number.



multiplicative comparison

multiplicative
CO m p a r i SO n Amy has 5 basebal-lx cardff has 3 times as

many cards as Amy. How many baseball cards
did they have altogether?

Compare by asking or
telling how many
times more one
amount is as another.

.- €.Jg. 4 times greater
Amy has 5 baseball cards. Jeff has 3 times than.
as many cards as Amy. How many
baseball cards did they have altogether?

multiplicative
comparison




multiply

- f The operation of repeated
I I l u I tl I addition of the same
number.

3x5=5+5+5



number line

number : L as
Ilne 0 1 2 3 4 5 s0ints on  line.




numerator

numerator = .e; L

1 The number written
"‘@ above the line in a
—_ ¢ Partsshaded fraction. It tells how

+ Parts we are using
3 —® g many equal parts are

described in the fraction.

numerator



obtuse angle




Order of Operations

Order of Operations /‘5

O rd e r Of 1. Do operations in parentheses. /
2. Multiply and divide in order

from left to right.

" . Add and sub ' d
Operations | s Awadsuueinom

Order of Operations

O rd e r Of 1. Do operations in parentheses. | A set of rules that tells

2. Multiply and divide in order the order in which to
from left to right. compute.

O pe rati O n S 3. Add and subtract in order

from left to right.




ounce (0z)

ounce (0z)

A customary unit of
weight equal to one
sixteenth of a pound.
16 ounces = 1 pound.

ounce (0z)

A strawberry weighs about 1 ounce.



parallel lines

pa ral I e I e—rk Lines that are always
i

the same distance apart.
- ) They do not intersect.
lines



parentheses

() 20



pattern

pattern AOCHAOHE

§J>
‘QU
(Q

pattern AOHN AOE bd <

sh p ange d
according to arule.



perimeter

3cm
||
pel Illletel " "
6 cm
Perimeter =4cm + 6cm + 4cm + 3cm
=17cm
3cm
4 cm 4cm

- The distance around
pe r I I I l e e r 6 cm the outside of a figure.
Perimeter =4cm + 6cm + 4cm + 3cm
=17cm



period o~

In a large number,

" 1 periods are groups of
p e r I O THousANDS ones 3 digits separated by

[ o £ millions
commas or by spaces.

miflions | millions

71 4|5 | 31 0| 9 [ 218 |1




perpendicular lines

pe rpend ICU Iar _l Two intersecting lines
I i neS that form right angles.



@ The orange

@ The orange
juice carton

Q holds 1 pint. A customary unit of

pint (pt) = =




place value

thowsands | theusands

L I wﬂlm“d mllf;:ns millions e theusands | | hundreds tans anes
1 ]

The value of the

p I ace Val u e T s o placae I’CI)J r?1 gﬂ;?‘it in

witions | milions millions " 5| thousands | theusands hundreds | tens anes

7 4 5 . 3 0 *] . 2 8 1




plane figure




" ° " oM The exact location in space
p O I n D represented by a dot.



pound (Ib)

pound (Ib)

-

A loaf of bread weighs about 1 pound.

| ‘ A customary unit of
ound (Ib
’ 1 pound = 16 ounces .
A loaf of b W about



prime number

p r I m e ﬁﬁ*** A whole number greater than O
that has exactly two different
factors, 1 and itself.
number 1x5=5
5 is a prime number



product

product st
 : e o
product Sy 3o o



protractor

A tool used to measure
and draw angles.







guotient

guotient O -
7| 96



blue red green orange purple

Range= 53 to 92 = 39

92 78 64 53 88

blue red green orange  purple
Range= 53 to 92 = 39

The difference between the
greatest number and the
least number in a set of data.




A part of a line that has

one endpoint and goes
ra.y on forever in one

direction.



reasonapleness

Use estimation to

What is the product of 57 and 34? eliminate
A. 1938 C. 5738 unreasonable
B. 3208 D. 8,698 :
choices.
60 x 30 =1,800

B, C, and D are
not close to
1,800.

The answer is A.

reasonableness

Use estimation

What is the product of 57 and 34? to eliminate
g\. %ggg g. gggg unreasonable
.3, - 8, choices. An answer that is

60 x 30 = 1,800
based on good

B, C,and D are number sense.
not close to
1,800.

The answer is A.

reasonableness




related facts

Related Facts for 3, 5, 8

related facts

5+3=8 8-3=5

Related addition and
Related Facts for 3, 5, 8 subtraction facts or

lated Itiplicati
related facts [is=s s5=3] “dcisionreers
Also called
°+3=8 8-3=5 fact family.




remainder

There are 22 students going on a field trip.
There are 5 chaperones.
How many students can be in a group?

I I I I I l I 609 eee
4 @8@ 4 ©(§@ 4©©©@
4 or 5 students can be in a group.

There are 22 students going on a field trip.
There are 5 chaperones.
How many students can be in a group

29 - 5 =4 R? The amount left over

r r ‘ when one number is
re al n d e r divided by another.

4 or 5 students can be in a group.



right angle




right triangle

right
triangle b

right
triangle \




round a whole number

round a e

T T T T T T T 11

whole number ‘ :

rOU nd a. Wh()le /4\ To find the nearest ten,

T T T T T T 17T hundred, thousand,

number o ; (and 50 on).




second (sec)

(unit of time)

second (sec)

60 seconds = 1 minute

One sixtieth of
second (sec) /
(unit of time) seconds in a minute.

60 seconds = 1 minute



sequence

Sequence 2,5,8,11,14,17...

A set of numbers

SEQUENCE 25810 14.17... e



simplest form

simplest —
form —

- When a fraction is
m I t expressed with the

S I p eS 3 fewest possible pieces, it
I@ is in simplest form.
(Also called lowest

form called






sguare unit

square -
unit m

square . N

square centimeter or

square inch, used to

|
l | I l It measure area.
1 zquare unit




standard form

I

standard 12 345
form
standarg 12 345 o

form



subtract

subtract =5 &

8-3=5

An operation that gives
the difference between

two numbers.
8 d
||3 - lpoun so || OOOOO Subtraction can be used
S u r aC pounds : @@@ to compare two numbers,
8-3=5 8-3=5 or to find out how much

Is left after some is taken
away.



453 + 929 = 1,382

The answer to an
S u | I l addition problem.



One of the equal parts

te n t h when a whole is divided
into 10 equal parts.




time Interval

time
Interval

time
Interval




two-dimensional

Having length and
width. Having area, but
not volume. Also called

a plane figure.

two-dimensional




unit fraction

unit 1
fraction 9



unlike denominators

unlike 111
denominators 3 4 5§
unlike 1 1 sors

denominators



variable

variable 5x 5 =10

b is a variable worth 2

variable 2 x5 =10 azeem
IS

iable worth 2



iuenex of a polygon

vertices
vertex of a polygon
The point at which two
line segments, lines, or
Ve rteX rays meet to form an
N angle.

I 1

vertices









whole numbers

whole




word form

The word form of 12,345

WO r d fO r m is twelve thousand

three hundred
forty-five

WO rd The word form of 12,345
IS twelve thousand A way of using words
three hundred to write a number.

fO r m forty-five



A customary unit of length.
1 yard = 3 feet or 36 inches.




Zero Property of
Multiplication

Zero Property
of Multiplication

Zero Property any number an
of Multiplication zefo is zefo.
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